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3 ¥[ 30 |0 /% (@) BEK (R22)
3 ¥ 31 0 =y (@) EEH (R22)
3 ¥ 32 |0 vavy O BEMK (R22)
3 ¥ 33 |0]f smwy (@) BEA (R22)
3 ¥ 33 |0f vawy O BEK (R22)
3 Y| 34 | 0| vavy (@) EER (R22)
3 ¥ 35 |0 vavy O BEK (R22)
3 ¥ 36 [0 smvvy (@) EEH (R21)
3 ¥ 36 | 0| zofex @) BEK (R21)
3 ¥ 37 | 0| zotx @] BEA (R21)
3 ¥ 38 0| 7A=Y O BEK (R22)
3 ¥ 39 [0 7A=v (@) BIEA (R22)
3 ¥ 40 0| 7A=Y O BEK (R22)
3 Y 1 0 2% @] BIEA (R22)
3 7 2 0| vavwy (@) BEK (R22)
3 Y 3 0| 7A=Y (@) BIEA (R22)
3 71 4 |0 es=% @) BEK (R22)
3 Y 4 0| 7A=Y (@) BIEA (R22)
3 7 5 0| vavwy (@) BEK (R22)
3 Y 6 0 e/ % @] REMR (RE2)
3 71 7 |0 es=% @) BEK (R22)
3 Y 7 0| 7A=Y (@) BIEA (R22)
3 U 8 0 e/ % O BEMK (R22)
3 Y 9 0 /% @] BEMA (R22)
3 U 10 0| vavwv O BEK (R22)
3 71 11 |0 /% @] BEMA (R22)
3 U 12 0| vawv O BEK (R22)
3 Y 13 0] vawv (@) BEA (R22)
3 U 14 0| vawv O BEK (R22)
3 Y 15 0] vawv (@) BEMA (R22)
3 U 16 0 e/ % O BEK (R22)
3 71 17 | 0| =0k @] BEMA (R21)
3 U 17 0 | zofis O BEK (R21)
3 Y 18 0] vawv (@) BEA (R22)
3 U 19 0| vawv O BEK (R22)
3 7120 | 0| es/% @] BEMA (R22)
3 U 21 0| vAawY O BEA (RE2)
3 71 22 |0 Z¥ (@) BEMA (R22)
3 U 23 0 e/ % (@) BEA (RE22)
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3 71 23 [0 2m=v O BEMA (R22)
3 U 24 0 e/ % (@) BEA (R22)
3 71 24 | 0| vawy (@) BEMA (R22)
3 U 25 0 e/ % (@) EER (R22)
3 71 25 | 0| vmvvy (@) BEMA (R22)
3 71 26 | 0| vmwv (@) Bk (1R22)
3 71 27 | 0| 2%y (@) BEMA (R22)
3 71 28 | 0| vmwv (@) Bk (1R22)
3 7129 | 0| vmvy (@) BEMA (R22)
3 U 30 0 e/ % (@) EER (R22)
3 71 30 | 0| vA%Y (@) BEMA (R22)
3 U 31 0 e/ % (@) EEH (R22)
3 71 32 | 0| vmvy (@) BEMA (R22)
3 71 33 0| vm=v (@) Bk (1R22)
3 71 34 [ 0] es=* (@) BEH (1R22)
3 U 36 0 e/ % (@) EER (R22)
3 711 0| es=* (@) BEMH (1R22)
3 T 1 0 e/ % (@) BEA (R22)
3 7l 2 |0 es* @) B (1R22)
3 T 3 0 sm=v (@) BEA (R22)
3 T 4 0 sm~v (@) BEK (R22)
3 T 5 0] 7A=Y (@) BEA (R22)
3 T 6 0 sm~v (@) BEK (R22)
3 T 7 0 sm=v (@) BEA (R22)
3 7 8 |0 s @) BEK (R22)
3 T 9 0] vavwY (@) BEA (R22)
3 71 10 [ 0| sm~v (@) BEK (R22)
3 U 11 0| 7a=v @] EER (R22)
3 71 12 |10 24 (@) REH (R22)
3 T 13 | 0| vmwv (@) BEA (R22)
3 s 15 0| 7A=Y O BEK (R22)
3 71 16 | 0| 7m=v (@) BIEA (R22)
3 s 17 0| 7A=Y O BEK (R22)
3 T 23 | 0| 2ot (@) HEEM
3 71 23 |0 24 O M
3 71 25 |0 e/ % @] HEEM
3 71 25 | 0| zoftk (@) EEEM
3 T 27 | 0| A=y (@) HEEM
3 71 27 | 0| zoftk (@) EEEM
3 T 28 | 0| 2m=v (@) HEEM
3 71 28 | 0| zoftk (@) EEEM
3 T 32 0 a4 (@) BEA (R22)
3 s 34 0 ¥ (@) BEK (R22)
3 B 13 0| 7A=Y (@) BIEA (R22)
3 B 14 0| va=wv O BEMK (R22)
3 1l 24 [ 0] es* @] BEMA (R22)
3 1| 27 | 4] zomex @] BEK (R21)
3 1 30 0| 7m=v (@) A EM
3 1 30 |0 2% O EEM
4 Tl 21| 0] zofex @] BEA (R21)
4 7 23 0 | zofis O BEK (R21)
4 7| 25 | 0| vmwv @) B (R£2)
4 7| 40 0 | zofis O BEK (R21)
4 71129 | 0| zofex @] REK (R2D)
4 7| 135 | 0| zofti O REA (R21)
4 7137 0| zofex @] BEA (R21)
4 7| 146 | 0 | zofis O BEK (R21)
4 71470 /% @) B (R£2)
4 7| 47|10 sa=y O BEA (RE2)
4 7| 148 0| vmwv @) BEH (R22)
4 71149 |0 sa=wy O BEA (RE22)
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4 71150 | 0| A=y O R (R22)
4 71151 | 0| sn=v O REK (B22)
4 71152 | 0] sm%v O BEMA (R22)
4 71153 | 0| sm=v O REK (B22)
4 71154 | 0| A~y O BREM (R22)
4 71155 | 0| o=y @) EER (R22)
4 71156 | 0| sma=y O B (R22)
4 7157 | 0| o=y @) EEH (R22)
4 71158 | 0| A~y O B (R22)
4 7115910 VS O REK (B22)
4 71159 | 0f A~y O EREMR (R22)
4 71160 | 0| sm=v O REK (B22)
4 71161 | 0| A~y O BREMR (R22)
4 71162 | 0| sn=v O REK (B22)
4 7| 163 | 0| zox O BEMA (R21)
4 7| 164 | 0 | zotis O REK (B2
4 71165 0| A=y O B (R22)
4 71166 | 0| vawv O BEK (B22)
4 7| 1670 vm=v @) REH (R22)
4 71168 | 0 | 2ot O BEK (B2
4 7169 0| vmvv @) R (R22)
4 71170 | 0 | vm=v O BEK (B22)
4 7171 0| vm=v @) R (R22)
4 71172 |1 0| vma=v O BEK (R22)
4 7173 0| vm=v @) R (R22)
4 71174 | 0 | vm=v O BEK (R22)
4 7175 0| vm=v @) R (R22)
4 71176 | 0| vm=wv O BEK (B22)
4 7177 0| vm%v @) REH (R22)
4 71178 | 0| vm=wv O BEK (B22)
4 71179 0| va=v O B (R22)
4 71180 | 0 smwy O REMR (RE2)
4 71181 (0| va=v O B (R22)
4 71183 | 0| smwy O REMR (RE2)
4 71184 | 0| va=v O B (R22)
4 71185 | 0| smvwy O REMR (RE2)
4 7118 | 0| va=v O B (R22)
4 7| 187 | 0| va=wv O REMR (RE2)
4 71188 | 0| va=v O B (R22)
4 7118 | 0| savwy O REMR (RE2)
4 71190 (0| va=v O B (R22)
4 71191 | 0| vma=wv O REMR (RE2)
4 71192 (0| va=v O B (R22)
4 71193 | 0| smwy O REMR (RE2)
4 71194 | 0 | zotur O B (R21)
4 71195 0| 2a~%vy O REMR (R22)
4 71220 0| vm=v O BER (R22)
4 71221 0| va<y O REMR (R22)
4 711222 0| vn=v O BER (R22)
4 71223 0]| A=y O REMR (R22)
4 712240 vn=v O BER (R22)
4 71225 0]| sma=y O REMR (R22)
4 71235 | 0| zotur O B (R21)
4 7452 | 0| va<y O REMR (R22)
4 7| 453 | 0| vm=v O BER (R22)
4 71460 [ 0| va~%v O REMR (R22)
4 7| 461 | 0| vn=v O BER (R22)
4 7462 | 0| 7m=v (@) REMR (R22)
4 7| 463 | 0| sn=v O REK (B22)
4 7| 464 | 0| savwy @] BEK (R22)
4 7| 465 | 0| sn=v O REK (B22)
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4 7| 466 | 0| smvy O BEMA (R22)
4 7| 467 | 0| 7a=y (@) Bk (1R22)
4 7468 | 0| smvwy O BEK (R22)
4 7| 469 | 0| sm=v (@) Bk (1R22)
4 7| 470 | 0] smvy (@) BEMA (R22)
4 7| 471 0| 2m=v (@) Bk (1R22)
4 7| 472 | 0] sma%y (@) BEMA (R22)
4 7| 475 0| sm=v (@) Bk (1R22)
4 7| 481 | 0] vy (@) BEMA (R22)
4 7| 482 0| sm=v (@) Bk (1R22)
4 7| 484 | 0| smawy (@) BEMA (R22)
4 71572 0| sa=y @] EEH (R22)
4 7575 | 0] savy (@) BEMA (R22)
4 71576 | 0| sy @] EER (R22)
4 7| 577 | 0] vy (@) BEMA (R22)
4 7578 0| s7r=v (@) Bk (1R22)
4 71579 | 0] savy (@) BEMA (R22)
4 758 |0 7m=v (@) BEA (R22)
4 75810 vmvwv O BEK (R22)
4 75830 7m=v (@) BEA (R22)
4 7|58 | 0| vy O BEK (R22)
4 7|58 | 0| s7rev @) Bk (1R22)
4 7|58 | 0| vavv O BEK (R22)
4 7587 |0]f vy O BEA (R22)
4 7|58 | 0| vmvwv O BEK (R22)
4 7158 | 0f savwy (@) BEA (R22)
4 7159 | 0| e/* @) Bk (1R22)
4 1 9 0] 7A=Y (@) BEA (R22)
4 1 10 | 0| vmwv O BEK (R22)
4 4] 11 | 0] sm=v (@) BEH (R22)
4 1] 12 10| 2m=y (@) Bk (1R22)
4 1 13 10| 7m%v (@) BIEA (R22)
4 i1 14 | 0| so=v O BEK (R22)
4 1] 15 0| 7m=y @) B (R22)
4 1] 16 |0 2m=y (@) Bk (1R22)
4 1 17 | 0| zmwv (@) BIEA (R22)
4 1] 18 | 0| o=y O BEK (R22)
4 1 19 | 0| 7m%v (@) BIEA (R22)
4 11 20 | 0] o=y O BEK (R22)
4 1] 21 |0 sm=v (@) B (1R22)
4 11 22 | 0| vavy O REMA (R22)
4 11 23 | 0| 7m%v (@) BEA (R22)
4 i1 24 0| vo=v O BEK (R22)
4 11 25 | 0| 7m%v (@) BIEA (R22)
4 1] 26 | 0| 2m=y @) Bk (1R22)
4 11 27 | 0| vavy (@) REK (R22)
4 1] 28 0| 2zm=y @) Bk (1R22)
5 713090 7mwv @) Bt (1R22)
5 7521 | 0] 7m=y @) Bk (1R22)
5 7| 522 | 0| zowx (@) @] BEA (R21)
6 7|1 10 | 0| ox=* @) Bk (1R2D
6 71 10 | 2 sRE @] BEA (RE21)
6 7| 10 | 3| ox=* @) Bk (1R2D
6 7| 10 | 4| u=x @] BEMA (R21)
6 7| 10 | 5| ox=* @) Bk (1R21D
6 71 10 | 6 sRE @] BEA (R21)
6 7l 10 | 7| ox=* @) Bk (1R2D
6 7| 10 | 8| u=x @] BEMA (RE21)
6 7|1 10 | 9| ox=* @) Bk (1R21D
6 7| 11 | 0| 2x=* @) Btk (1R21)
6 7| 12 | 0| ox=* @) Bk (1R21D
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6 7|1 13 |0 sRE O BEK (R2D)
6 7| 18 | 0| #zofe O BEA (R21)
6 71 20 |0 sRE (@) BEK (R2D)
6 712210 2% O BEA (R21)
6 712310 sRE (@) BEMA (R21)
6 T 2410 2% O BEA (R21)
6 712510 sRE (@) BEMA (R21)
6 7|27 10 2% O BEA (R21)
6 7] 2810 sRE (@) BEMA (R21)
6 712910 2% O BEA (R21)
6 713 |0 sRE (@) BEMA (R21)
6 713110 2% O BEA (R21)
6 7132 ]0 sRE (@) BEMA (R21)
6 713310 2% O BEA (R21)
6 7| 38 | 0] zofex O BEK (ReD)
6 7| 41 0 zF (@) EER (R22)
6 7| 42 |0 /% (@) BEMA (R22)
6 7| 43 | 0| zmwy (@) BEA (R22)
6 7| 44 | 0| ox¥ (@) B (R2D)
6 7| 45 | 0| zotex O BEA (R21)
6 7| 46 | O e/ % @] BEK (R22)
6 7 47 0 £/ % (@) EER (R22)
6 7| 48 |0 /% @] BEK (R22)
6 7 49 0 £/ % (@) EEH (R22)
6 7| 50 |0 e/ % @] BEK (R22)
6 7| 51 0 e/ % (@) BEA (R22)
6 7| 52 |0 e/ % @] BEK (R22)
6 71530 e/ % (@) BEA (R22)
6 7| 54 |0 e/ % @] BEK (R22)
6 7 55 0] 7A=Y (@) EER (R22)
6 7 56 0| 7A=Y O BEK (R22)
6 7| 57 | 0| zmwy (@) BIEA (R22)
6 7 58 0| 7A=Y O BEK (R22)
6 7159 0] 2m=v (@) BIEA (R22)
6 7 60 0| 7A=Y O BEK (R22)
6 7| 61 | 0| zotx @] BEA (R21)
6 7 62 0 (@) BEK (R22)
6 71 63 |0 @] REMR (RE2)
6 7 64 0 (@) BEK (R22)
6 71 65 |0 @] REMR (RE2)
6 7 66 0 (@) BEK (R22)
6 7| 67 |0 @] BEA (R22)
6 7| 68 |0 O RN (R22)
6 7| 69 | 0| ot O BEA (R21)
6 7 70 0 | zofis O BEK (R21)
6 Tl 70 | 1] zofex @] BEMA (R21)
6 7 71 0 | zofi O BEK (R21)
6 7|1 72 |0 2¥ @] BEMA (R22)
6 7 73 0 e/ % O BEK (R22)
6 7| 74 |0 /% @] BEA (R22)
6 7 75 0| va=wv O BEK (R22)
6 7 76 0 @] REMR (R22)
6 7 77 0 O BEK (R22)
6 7 78 0 @] REMR (R22)
6 7 79 0 O BEK (R22)
6 7 80 0 @] BEA (R22)
6 7 81 0 O BEK (R22)
6 7|1 8 |0 @] BEMA (R22)
6 7| 8 | 0| #zofex O BEA (R21)
6 7| 83 | 1| #zomx @] BEMA (R21)
6 7 84 0| 7A=Y O BEA (RE22)
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6 7| 8 | 1] 7m=y @) Btk (18422)
6 7| 8 | 0| zofex O BEA (R21)
6 7| 8 | 0] vavwy (@) BEMA (R22)
6 7| 87 | 0| #x¥ O BEA (R21)
6 7] 8 |0 /% @] BEMA (R22)
6 7 89 0] 7A=Y @] EER (R22)
6 71 90 | 0] vy (@) BEMA (R22)
6 7 91 0] 7A=Y @] EEH (R22)
6 7 93 | 0] zoex @] BEMA (R21)
6 7 94 0 b/ (@) EER (R22)
6 71 95 | 0] smawy (@) BEMA (R22)
6 7 96 0] 7A=Y @] EEH (R22)
6 7| 98 | 0| zotex O BEK (ReD)
6 7 99 0] 7A=Y @] EER (R22)
6 71100 | 0| zm=v O BEMA (R22)
6 71101 |0 f savwy @] EER (R22)
6 71102 | 0| zm=wv O BEMA (R22)
6 71103| 0| zmwy (@) EER (R22)
6 7| 108 | 0| zofex O BEK (R21)
6 7| 110 | 0 | zots (@) EEH (R21)
6 71111 (0 2 (@) BEMK (R22)
6 71112 |0 a4 (@) EER (R22)
6 7113 0| zofex O BEK (R2D)
6 71114 | 0| smvy (@) EEH (R22)
6 7115 0| zofex O BEK (R2D)
6 71116 |0 ¥ (@) EEH (R22)
6 711710 a4 @) R (R22)
6 71118 | 0 a4 (@) EER (R22)
6 711190 ¥ (@) BEK (R22)
6 71120 0 ¥ (@) EER (R22)
6 712110 a4 @) RBEM (R22)
6 714310 @] BIEA (R22)
6 7| 144 |0 O BEK (R22)
6 714510 @] BIEA (R22)
6 7146 |0 O BEK (R22)
6 7| 147 | 0| %y O BIEA (R22)
6 7| 148 0| 2=y @) BEM (R22)
6 7149 |0 IXE (@) REHR (R21)
6 71150 | 0 ¥ (@) BEK (R22)
6 71151 | 0| zmwy (@) BIEA (R22)
6 71152 |0 e/ % (@) BEK (R22)
6 7116520 | smvwy (@) BEA (R22)
6 711530 ¥ (@) BEK (R22)
6 71540 2F (@) BIEA (R22)
6 7] 1650 ¥ O BEMK (R22)
6 7] 156 | 0 ¥ (@) BEMA (R22)
6 7| 157 | 0| vm=wv O BEK (R22)
6 71158 | 0| zm=v (@) BEMA (R22)
6 71159 | 0| vm=wv O BEK (R22)
6 71160 | 0| z7m=v (@) BEA (R22)
6 71161 | 0| vma=wv O BEK (R22)
6 71162 | 0| o=y (@) BEMA (R22)
6 71163 | 0| vm=wv O BEK (R22)
6 7| 164 | 0| ox% @) Btk (1R21)
6 711650 ¥ O BEK (R22)
6 71166 | 0 ¥ (@) BEA (R22)
6 71167 |0 ¥ O BEK (R22)
6 71168 |0 Z¥ (@) BEMA (R22)
6 71169 |0 ¥ (@) BEA (RE2)
6 711700 e/ (@) BEMA (R22)
6 711711 0| vma=wv O BEA (RE22)
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6 7117210 I XE O REMK (Re21)
7 7 1 0 | zotex O BEA (R21)
7 7 5 0| zotx O BEK (R2D)
7 7 9 0| #zotek @) BEA (R21)
7 7l 11 | 0] zotex O BEK (ReD)
7 7| 15 | 0| 7a=v (@) Bk (1R21)
7 1 4 0 e/ % (@) A EM
7 1 4 0 sm=v (@) EEMR
7 1 4 0| zotex (@) M
7 1 4 0 24 @] EEM
7 11 16 |0 e/ % (@) A EM
7 11 16 | 0| zofti O EEMR
7 11 17 | 0 | zotex O BEK (ReD)
7 11 17 | 1] zotex O BEA (R21)
7 11 18 | 0 | zotex O BEK (ReD)
7 yl 1 0| zotk O BEA (R21)
7 9 5 0| zotx @] BEMA (R21)
7 71 16 |0 /% (@) EEM
7 91 16 | 0 | zotex @) EEM
7 7 19 | 0| =0t (@) BEA (R21)
7 91 20 | 0| zoten O BEK (R2D)
7 9 24 |0 2% O EEM
7 91 24 |0 /% O M
7 91 24 | 0| zotwx @] EEM
7 91 25 | 0| zoten O BEK (R2D)
7 91 27 |0 /% (@) EEM
7 91 27 | 0| zoter @) EEM
7 91 38 | 0| zofti (@) BEA (R21)
7 1| 3 | 0] %ok @) R (ReD)
7 I 3 0| zotk O BEA (R21)
7 1 5 0| 7r=v O BEK (R21)
7 I| 15 | 0| zofx (@) BEA (R21)
8 7 5 0 | zotik O EEEM
8 7 5 0 24 @] EEEM
8 7 6 0 | zotik O EEEM
8 7 6 0 24 (@) HEEM
8 7| 16 | 0| 7x% @) BEH (R2D)
8 7 17 | 0 Ess (@) BEA (R21)
8 7| 18 | 0| zmo=v @) BEM (R22)
8 71 20 |0 2% (@) BIEA (R22)
8 71 20 |0 a4 @) BEM (R22)
8 7| 22 | 0| zowx @] BEMA (R21)
8 7| 23 | 0] zofex O BEK (R21)
8 71 24 |0 2F (@) BIEA (R22)
8 7 24 0 e/ % O BEMK (R22)
8 7 25 0 ¥ (@) BEMA (R22)
8 7 26 0 ¥ O BEK (R22)
8 7Tl 2710 2% O B (R22)
8 7 28 0 ¥ O BEK (R22)
8 7 29 0 ¥ (@) BEA (R22)
8 7 29 0 e/ % O BEK (R22)
8 7 30 0 ¥ @] BEMA (R22)
8 7 30 0 e/ % O BEK (R22)
8 7 31 0 2F @] BEMA (R22)
8 7 32 0 e/ % O BEK (R22)
8 7 33 0 ¥ @] BEA (R22)
8 7 34 0 ¥ O BEK (R22)
8 7 35 0 ¥ @] BEMA (R22)
8 7|36 |0 s O BEA (R22)
8 7 37 0 2F O R (R22)
8 7 38 0 ¥ (@) BEA (RE22)
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8 739 ]0 a4 O BEMH (1R22)
8 7| 40 0 ¥ (@) BEA (R22)
8 7| 53 | 0| zowx O BEK (R2D)
8 71 55 | 0 ot O EEMR
8 7 55 0 24 O HEEM
9 7 6 0| vavwy (@) EEMR
9 7 6 0| zotk (@) A EM
9 71 15 | 0| vavy O HEM
9 7| 15 | 0| otk (@) A EEM
9 7l 19]0 2% O EEM
9 7| 19 | 0| zofx (@) A EM
9 7Tl 24 ]0 2% O EEM
9 7| 24 | 0| zofex (@) EFEM
9 731 ]0 2% O EEM
9 7| 31 | 0| zofx (@) A EEM
9 732 ]0 2% O EEM
9 7| 32 | 0| zowx (@) A EEM
9 7| 57 | 0 zoteix O BEA (R21)
9 7| 8 | 0| zofx O BEK (R21)
9 71 90 | 0 zoteix O BEA (R21)
9 7| 98 | 0| zotex O BEK (R2D)
9 7| 100] 0 2% @) EEM
9 7| 100 | 0 | zoftk (@) EEEM
9 71104 | 0| sm=v (@) EEM
9 71104 |0 IRE O HEEM
9 7| 106 | 0 | zotex O BEA (R21)
9 7151 | 0| zofex O BEK (R2D)
9 711551 /% @] EEM
9 7| 155 | 1| zoftk (@) EEM
9 71163 0| sm=v (@) EEM
9 7| 163 | 0| zofti O EEEM
9 7| 166 | 0| zofex @] REK (R2D)
9 7| 167 | 0| zofex O BEK (R21)
9 7| 168 | 0| zofex @] REK (R2D)
9 7172 | 0| zotex O BEK (R21)
10 7| 34 | 0| zowx @] BEA (R21)
10 7| 43 |0 e/ % (@) M
10 7| 43 | 0| zofes (@) HEEM
10 7| 44 0 e/ % (@) BEK (R21)
10 T| 44 | 0| zofex @) BEA (R21)
10 7| 45 0 e/ % (@) BEK (R22)
10 7 45 0 e/ % @] BEA (R22)
10 7| 46 0 ¥ (@) BEK (R22)
10 7| 46 |0 e/ % @] BIEA (R22)
10 7| 47 0 ¥ O BEMK (R22)
10 7 48 0 2F @] BEMA (R22)
10 7 51 0 ¥ O BEK (R22)
10 | 7] 51 |0 es/% O B (R22)
10 7 53 0 | zofis O BEK (R21)
10 7| 72 | 0| zofex @] BEA (R21)
10 71132 |0 IRE O BEK (R21)
10 7| 138 0| zofex O REK (R2D)
10 7| 147 |0 e/ % O BEK (R22)
10 | 7] 1470 vm=v @) REK (R22)
10 7] 168 | 0 | zoftx O BEA (R21)
10 7169 | 0| zofex O REK (R2D)
10 7] 170 | O | zoftx O BEK (R21)
10 | 71710 2=x% O B (RED)
10 71172 |0 e/ % (@) EEMR
10 7117210 I XE O A EM
10 711730 e/ % (@) EEMR
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10 71173 |0 sRE @] EEM
10 7| 175 | 0 | zofx (@) BEA (RE21)
10 722 | 0] zotex O BEK (R2D)
10 7| 233 | 0| zotis (@) EEH (R21)
11 7 5 0 sRE (@) BEMA (R21)
11 7 22 0| #zotik (@) EBEHR (RE21)
11 7 26 0| vawv O HEEM
11 7| 26 | 0| otk @] EEM
11 7| 27 | 0] zotex O BEK (R2D)
11 7 28 0| #zotix (@) EER (RE21)
11 7| 28 | 0| zotex O BEK (ReD)
11 7 35 0 b/ (@) EEH (R22)
11 7 35 0] 7m=v (@) BEMA (R22)
11 7 36 0 b/ (@) EER (R22)
11 7 36 0] 7m=v (@) BEMA (R22)
11 7 37 0] 7A=Y @] EER (R22)
11 7 38 0| vawv O BEMA (R22)
11 7139 |0 2% (@) BEA (R22)
11 7| 40 0 ¥ (@) BEK (R22)
11 7 41 0 ¥ (@) BEA (R22)
11 7| 42 0 ¥ (@) BEMK (R22)
11 7 43 0 ¥ (@) BEA (R22)
11 7| 44 0 ¥ (@) BEK (R22)
11 7 45 0 ¥ (@) BEA (R22)
11 7| 46 0 ¥ (@) BEMK (R22)
11 7 47 0 ¥ (@) BEA (R22)
11 7| 48 0 ¥ (@) BEK (R22)
11 7 50 0] 7A=Y (@) EEMR (R22)
11 7| 51 | 0] 7ma=%v @) B (1R22)
11 7 60 0| #zotix (@) BEA (R21)
11 7 68 0 IRE O BEK (R21)
11 71 69 | 0| zoterx (@) BEA (R21)
11 [ 7] 70 | 0| zofex @) BEM (R2D)
11 7 75 0| zotk (@) REH (RE21)
11 [ 7] 81 | 0| zofeux @) BEM (R2D)
11 7| 8 |0 e/ % @] BIEA (R22)
11 7 84 0] 7vA=v O BEK (R22)
11 71 8 [0 7A=v (@) BIEA (R22)
11 7 86 0 ¥ (@) BEK (R22)
11 7| 8 | 0| smvwy (@) BIEA (R22)
11 7 88 0] 7vA=v O BEK (R22)
11 7 92 0 2F (@) BEA (R22)
11 7 92 0 ¥ (@) BEK (R22)
11 7193 |0 2% @] BIEA (R22)
11 7 94 0] 7A=Y O BEMK (R22)
11 7 95 0| 7m=v O REMR (R22)
11 7 96 0 e/ % (@) BEMR (RE22)
11 7 97 0 2F @] BEMA (R22)
11 7 97 0 e/ % O BEK (R22)
11 7|1 98 | 0] sm%y @] BEA (R22)
11 7 99 0] 7A=Y O BEK (R22)
11 71100 |0 [ sm=v (@) BEMA (R22)
11 71101 |0 [ zm=y O BEK (R22)
11 71102 | 0] sm%y @] REK (R22)
11 71103 |0 e/ % O BEK (R22)
11 71103| 0| sm=v (@) BEA (R22)
11 71104 |0 e/ % O BEK (R22)
11 71105 | 0] smwy @] BEMA (R22)
11 71106 | 0| za=wy O BEA (RE2)
11 711070 b/ % O R (R22)
11 71108 |0 zmwy O BEA (RE22)




¥ g B — B X
MR MR JiiZEYap
— 1) A
N T N - K s BRI t e 1~ 1~ N
W B BE | llen | tmmemims | RMERE AT BN 7
WEREHI0E | RERSRX2

11 711090 /% O R (R22)
11 71109 | 0| sn=v O REK (B22)
11 7110 0| A=y O BEMA (R22)
11 71111 ] 0 2F O REK (B2
11 7| 111 | 0 | zofx O BEK (ReD)
11 71112 | 0| sm=v O REK (B22)
11 71113 |0 e/ % O B (R22)
11 71114 | 0| sm=v O REK (B22)
11 71115 0| zm=v O B (R22)
11 71116 | 0| sm=v O REK (B22)
11 711171 0| zm=v O EREMR (R22)
11 71118 | 0| sm=v O REK (B22)
11 71118 | 0| zm=wv O BREMR (R22)
11 7111910 2F O REK (B22)
11 71120 0 2% O EREMR (R22)
11 7112110 /% O REK (B22)
11 71121 | 0| zm=v O B (R22)
11 71122 | 0| vma=wv O BEK (B22)
11 711231 0| zm=wv O B (R22)
11 711261 0 2F O BEK (B22)
11 71129 |1 0| zm=v O B (R22)
11 71130 | 0| 7=y O BEK (B22)
11 71131 | 0| zm=wv O B (R22)
11 7113210 2F O BEK (R22)
11 71132 |1 0| vm=wv O B (R22)
11 7113310 2F O BEK (R22)
11 7113310 b/ ¥ O B (R22)
11 71134 | 0| va=wv O BEK (B22)
11 71135 0| zm=wv O B (R22)
11 71136 | 0| vm=wv O BEK (B22)
11 71137 (0| va=v O B (R22)
11 71138 |0 2F (@) REMR (RE2)
11 71138 (0| va=v O B (R22)
11 71139 | 0 | zotem O REH (R21)
11 71140 0 2F O B (R22)
11 7114110 2F O REMR (RE2)
11 7| 14210 2F O B (R22)
11 7143 |0 2F (@) REMR (RE2)
11 714410 2% @) EEK (1942)
11 7145 |0 ¥ O BEK (R22)
11 7| 146 |0 2F O B (R22)
11 7| 14710 2F O REMR (RE2)
11 7| 148 | 0| zofex O BEK (R21)
11 71149 | 0| smwy O REMR (RE2)
11 71150 | 0 2F O BER (R22)
11 71150 [ 0| v~y O REMR (R22)
11 71151 | 0| vm=v O BER (R22)
11 7| 152 | 0| =0tk O REK (R2D)
11 71153 | 0 | zotur O BER (B2
11 7| 154 | 0| zotix O REK (R2D)
11 71155 | 0 | 2ot O BER (R21)
11 7115710 ¥ (@) REMR (R22)
11 7|1 1571 0 v/ % O BER (R22)
11 71 158 | 0 SRS O BEK (822)
11 71158 | 0 v/ % O BER (R22)
11 71159 (0| v~y O REMR (R22)
11 71160 | 0| vm=v O BER (R22)
11 | 7]161] 0] 7=y ) B (1242)
11 71162 | 0| sn=v O REK (B22)
11 71163 | 0| A=y O R (R22)
11 71164 | 0 v/ % O REK (B22)
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11 71164 | 0| 7m=v O BEMA (R22)
11 7] 165 | 0 | zoftx O BEA (R21)
11 7| 166 ] 0 2% O BEK (R22)
11 7167 |0 2% (@) BEA (R22)
11 71168 |0 2F (@) BEMA (R22)
11 71169 |0 2F (@) BEA (R22)
11 71171 |0f sm=y (@) BEMA (R22)
11 71178 | 0| smwy O BEA (R22)
11 71179 0[ sm=y (@) BEMA (R22)
11 71180 | 0 zawy O BEA (R22)
11 71810 2% O BEK (1242)
11 71810 e/ % (@) BEA (R22)
11 71181 | 0| 7m=v O BEK (1842)
11 7182 | 0| 7hwv O BEA (R21)
11 7184 |0 2F (@) BEMA (R22)
11 7184 |1 2F (@) BEA (R22)
11 7184 | 2 2F (@) BEMA (R22)
11 7184 |3 2% @] BEA (R22)
11 7118 |0 2F (@) A EEM
11 7| 185 | 0 | zoftk (@) EEM
11 7118 |0 24 (@) HEEM
12 7 1 0 2% (@) BEA (R22)
12 [ 7] 3 [0] zm=vy @) R (R22)
12 7 6 0 £/ % (@) BEA (R22)
12 (7] 6 [0] 7m=y @) R (R22)
12 7 9 0 £/ % (@) BEA (R22)
12 (7] 9 [0] 7m=vy @) R (R22)
12 7 10 0 2% (@) BEA (R22)
12 7 11 0 2F (@) BEK (R22)
12 7 11 1 £/ % (@) BEA (R22)
12 7 12 0 e/ *® O BEK (R22)
12 7|1 13 ]0 /% O BIEA (R22)
12 7 14 |10 e/ *® O BEK (R22)
12 7 14 | 0| 7%y @] BIEA (R22)
12 7 15 0] 7vA=v O BEK (R22)
12 7] 16 |0 /% O BIEA (R22)
12 7 16 0] 7vA=v (@) BEK (R22)
12 7| 17 |0 /% O BIEA (R22)
12 7 18 | 0 e/ *® (@) BEK (R22)
12 Tl 20| 0] vavy O REK (R22)
12 7| 21 0] 7vA=v (@) BEK (R22)
12 7 22 0f 7m=v @] BEA (R22)
12 7| 23 0 2F (@) BEK (R22)
12 7|1 2310 /% O BIEA (R22)
12 7| 24 | 0| zofts O BEK (R21)
12 7| 25 | 0] zofes O REK (RED)
12 T 27 0 2F O BEK (R22)
12 7T 30 |0 svavy O REK (R22)
12 7| 31 0] 7A=Y O BEK (R22)
12 7| 32 | 0] sa%vy @] BEA (R22)
12 7| 35 0 e/ % O BEK (R22)
12 7| 36 | 0] vavy O REK (R22)
12 7| 37 0] 7A=Y O BEK (R22)
12 7| 38 |0 vavy O REK (R22)
12 7| 45 0] 7A=Y O BEK (R22)
12 7| 46 | 0| vavwy O REK (R22)
12 7| 47 0 e/ % O BEK (R22)
12 7| 48 | 0| /% O REK (R22)
12 7| 48 | 0O sm=v (@) BEA (R22)
12 7 54 0 b/ % O BEMA (R22)
12 7| 55 0] 7A=Y (@) BEA (R22)
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12 7| 56 | 0| zofer O BEK (R2D)
12 7 64 0| va=v O REK (B22)
12 71 68 |0 2% O R (R22)
12 7 69 0 2F O REK (B22)
12 7 70 0 2% O BREM (R22)
12 7 71 0 2F O REK (B22)
12 7 73 0 2% O B (R22)
12 7 74 0 /% O REK (B22)
12 7 75 0 2% O B (R22)
12 71 7510 /% O BEA (R22)
12 7 76 0 2% O EREMR (R22)
12 7 76 0 /% O REK (B22)
12 7 83 0| vAavY O BREMR (R22)
12 7 84 0| svm=v O REK (B22)
12 7 85 0| vAvY O EREMR (R22)
12 7 86 0 2F O REK (B22)
12 7] 8 |0 /% (@) BEMA (R22)
12 7 86 0| s7m=v O BEK (B22)
12 [ 7] 87 [ 0] 7m=v @) REH (R22)
12 7 88 0 /% O EER (R22)
12 [ 7] 8 | 0] 7m=vy @) R (R22)
12 7 89 0 2F O EER (R22)
12 7| 9 | 0| zofex O BEK (R2D)
12 7 91 0 b/ % O BEK (R22)
12 7 91 0| 7A=Y O B (R22)
12 7 92 0| vm=v O BEK (R22)
12 7 93 0| 7A=Y O B (R22)
12 7 94 0| svm=v O BEK (B22)
12 7| 95 | 0| zofex O BEK (R2D)
12 7 96 0| s7m=v O BEK (B22)
12 7 97 0| va=v O B (R22)
12 7 98 0| 7A=Y O REMR (RE2)
12 7 99 0| va=v O B (R22)
12 71100| 0| zmwy O REMR (RE2)
12 71101 (0| va=v O B (R22)
12 71102 | 0| zmvy O REMR (RE2)
12 71103 (0| va=v O B (R22)
12 7110410 ¥ O REMR (RE2)
12 71104 (0| va=v O B (R22)
12 71105 |0 £/ % O REMR (RE2)
12 71106 | 0 2F O B (R22)
12 71106 |0 /% (@) REMR (RE2)
12 71106 | 0| vm=v O REMK (R£2)
12 7110710 ¥ (@) BEK (R22)
12 711070 v/ % O BER (R22)
12 71107 | 0| va<y O REMR (R22)
12 71108 | 0| vm=v O BER (R22)
12 7109 0| es* O REK (R22)
12 71109 | 0| vm=v O BER (R22)
12 7Tl110| 0| es* O REK (R22)
12 71110 | 0| vm=v O BER (R22)
12 71111 | 0| va<y O REMR (R22)
12 71112 | 0| vm=v O BER (R22)
12 711130 2% (@) REMR (R22)
12 711141 0 2F O BER (R22)
12 711150 2% (@) REMR (R22)
12 71116 0 2F O BER (R22)
12 7116 0]| A=y (@) REMR (R22)
12 7111710 2F O REK (B22)
12 711180 e/ % O R (R22)
12 71118 | 0| sn=v O REK (B22)
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12 71119 | 0| sm%y O BEMA (R22)
12 71120 0 | #m=v O BEA (R22)
12 | 7] 121]| 0| za=v @) BIEH (1R£2)
12 711221 0| vm=wv O EER (R22)
12 711230 ¥ O BREM (R22)
12 711241 0| vma=wv O EER (R22)
12 711250 e/ % (@) BEMA (R22)
12 711251 0| vm=wv O EEH (R22)
12 71126 | 0| 7m=v O B (R22)
12 7| 127 | 0| vma=wv O EER (R22)
12 711281 0| z7m=wv O EREMR (R22)
12 71129 |0 b/ (@) EEH (R22)
12 71130 | 0| zofx O BEMA (R21)
12 71131 |0 b/ (@) EER (R22)
12 7113210 z7m=wv O EREMR (R22)
12 71139 | 0| zvm=wv O EER (R22)
12 711400 e/ % (@) BEMA (R21)
12 7| 140 | 0 | zots O EEH (R21)
12 71410 ¥ (@) BEK (R22)
12 7141 0]| 2m=v O EER (R22)
12 7142 |0 ¥ (@) BEMK (R22)
12 7| 142 |0 £/ % (@) EER (R22)
12 7] 143 |0 e/ % (@) BEK (R22)
12 71143 0| 2m=v O EEH (R22)
12 [ 7] 144 | 0| 7m=v @) R (R22)
12 71146 | 0| 2m=v O EEH (R22)
12 [ 7] 149 | 0| 7m=v @) R (R22)
12 71150 | 0 £/ % (@) EER (R22)
12 [ 7] 150 | 0| 7m=v @) REH (R22)
12 71151 |0 ¥ (@) EER (R22)
12 71151 (0 e/ % O BEK (R22)
12 7| 151 | 0| zofex @) BIEA (R22)
12 71152 | 0| vm=v O BEK (R22)
12 711531 /% @) BIEA (R22)
12 71153 | 1| vm=v O BEK (R22)
12 7| 155 | 0 | #zoftur (@) REHR (R21)
12 7| 158 | 0| zofex O BEK (R21)
12 7| 160 | 0 | zoftur (@) REHR (R21)
12 7| 162 | 0| zofex O BEK (R21)
12 7| 168 | 0| zox @] BEA (R21)
12 7192 ] 0] zofex O BEK (R21)
12 7| 198 | 0| zotx @] BEMA (R21)
12 7202 0] zofex O BEK (R21)
12 71203]0 2% (@) HEEM
12 71203 | 0| zotii O EFEMR
12 | 7]211]0 2% (@) BIEK (184£2)
12 712120 ¥ O BEK (R22)
12 712130 Z¥ @] BEMA (R22)
12 712140 ¥ O BEK (R22)
12 Tl215| 0| es* O REK (R22)
12 71216 |0 ¥ O BEK (R22)
12 | 7] 217|0| 2x% (@) BIEM (R£1)
12 7| 218 | 0 | #zofi O BEK (R21)
12 712190 sRE (@) BEMA (R21)
12 71220 0| vm=v O BEK (R22)
12 | 7] 221]|0]| 7x% (@) B (Re1)
12 712220 e/ % O BEK (R22)
12 Tl223]0]| 2x* @] REK (R2D
12 7248 |0 2¥ O BEA (RE2)
12 Tl249]0 2% @] BEK (R22)
12 71250 |0 2¥ O BEA (RE22)
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12 | 7] 2510 2% @) Btk (18422)
12 [ 7]252 |0 2% (@) Bk (1R22)
12 | 7] 25410 2% @) Btk (18422)
12 [ 7] 2550 2% (@) Bk (1R22)
12 [ 7]256 |0 2¥ @) BiEtk (18422)
12 [ 7] 2570 2% (@) Bk (1R22)
12 [ 7]258 |0 2¥ @) Btk (1822)
12 [ 7]260 |0 2% (@) Bk (1R22)
12 [ 7]261 |0 2¥ @) Btk (18422)
12 [ 7]262|0 2% (@) Bk (1R22)
12 [ 7]263|0 2¥ @) Btk (18422)
12 [ 7]266 |0 2% (@) Bk (1R22)
12 [ 7]267 |0 2¥ @) Btk (18422)
12 [ 7]268 |0 2% (@) Bk (1R22)
13 7 1 0| vavy (@) BEMA (R22)
13 (7] 2 [0] sm=y @) Bk (1R22)
13 7 3 0 2¥ (@) BEMA (R22)
13 (7] 3 |1 2% @) BEH (R22)
13 | 7] 4 | 0] vm=v O BEK (R22)
13 (7] 5 [0] zavy @) BEH (R22)
13 | 7] 5 | 0] va=v O BEK (R22)
13 (7] 6 [0] 782y (@) Bk (1R22)
13 | 7] 7 |0 va=y O BEK (R22)
13 (7] 8 [0] 7m=y (@) Bk (1R22)
13 | 7] 9 | 0] zm=v O BEK (R22)
13 | 7] 10 | 0| za=y (@) Bk (1R22)
13 | 7] 11 | 0| vm=v O BEK (R22)
13 | 7] 12 | 0| za=y (@) Bk (1R22)
13 | 7] 15 | 0| sm=v O BEK (R22)
13 | 7] 19 | 0| 7o=y (@) Bk (1R21)
13 (7] 24 1|0 @) Bk (1R22)
13 | 7] 26 | 0f 7m=y @) B (R22)
13 | 7] 27 | 0| zm=y (@) Bk (1R22)
13 | 7] 28 | 0f 7m=y @) B (R22)
13 | 7] 29 |0f zm=y (@) Bk (1R22)
13 | 7] 30 |0f zm=y @) B (R22)
13 | 7] 31 |0]f 2zm=y (@) Bk (1R22)
13 [ 7] 32 0] 7m=v @) B (R22)
13 | 7] 33 |0]f zm=y (@) Bk (1R22)
13 [ 7] 34 [0 7m=vy @) B (R22)
13 | 7] 35 | 0| zm=y (@) Bk (1R22)
13 | 7] 36 | 0f 7m=y @) B (R22)
13 | 7] 37 | 0| zm=y (@) Bk (1R22)
13 | 7] 38 | 0| 7m=y @) B (R22)
13 [ 7] 40 [ 0] es/=* (@) Bk (1R22)
13 7| 41 | 0| o=y (@) REMR (R22)
13 [ 7] 43 [0 es=* (@) Bk (1R22)
13 T 44 | 0| es* O REK (R22)
13 | 7| 44 | 0| zm=y @) Bk (1R22)
13 7| 45 | 0] smwy (@) REK (R22)
13 | 7| 46 | 0| zm=v @) Bk (1R22)
13 7| 47 |0 2¥ @] BEMA (R22)
13 [ 7] 47 [ 0] es=* (@) Bk (1R22)
13 7| 48 | 0] smwy (@) REK (R22)
13 | 7| 48 | 0| zm=y @) Bk (1R22)
13 7| 49 | 0] smwy (@) REK (R22)
13 [ 7] 50 [0] es=* (@) Bk (1R22)
13 | 7] 510 2¥ @) Bt (1R22)
13 [ 7] 52 0] es=* @) Bk (1R22)
13 7|1 53 |0 /% (@) BEK (R22)
13 | 7| 54 | 0| zm=y @) Bk (1R22)
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13 7 55 0| 7m=v O R (R22)
13 7 56 0 e/ % (@) BEA (R22)
13 7| 56 |0 e/ % (@) BEMA (R22)
13 7 56 0 b/ (@) EER (R22)
13 7 57 0| 7m=v O BEMA (R22)
13 7| 58 | 0| zotx O BEA (R21)
13 7 59 0| 7m=v O BEMA (R22)
13 7 60 0] 7A=Y @] EEH (R22)
13 7 61 0| 7m=v O BEMA (R22)
13 7 62 0| #zotix (@) EER (RE21)
13 7 63 0| 7m=v O BEMA (R22)
13 7 64 0] 7A=Y @] EEH (R22)
13 7 65 0| 7m=v O BEMA (R22)
13 7 66 0] 7A=Y @] EER (R22)
13 7 67 0| 7m=v O BEMA (R22)
13 7 68 0] 7A=Y @] EER (R22)
13 7 69 0| vawv O BEMA (R22)
13 7 70 0] 7A=Y (@) EER (R22)
13 (7] 71 0] zm=y @) REH (R22)
13 7 72 0] 7vavwY (@) EER (R22)
13 (7] 73 [0] 7m=vy @) R (R22)
13 7 74 0] 7A=Y (@) EER (R22)
13 7 75 0] 7vm=v (@) BEK (R22)
13 7 76 0] 7A=Y (@) EEH (R22)
13 7 7 0] 7vm=v (@) BEMK (R22)
13 7 78 0] vavwY (@) EEH (R22)
13 7 79 0 e/ % (@) BEK (R22)
13 7 80 0] 7A=Y (@) EER (R22)
13 7 81 0] 7vm=v (@) BEK (R22)
13 7 82 0] 7A=Y (@) EER (R22)
13 7 83 0| 7A=Y O BEK (R22)
13 7| 8 | 0| savwy (@) BIEA (R22)
13 7 86 0| 7A=Y O BEK (R22)
13 7| 8 | 0| savwy (@) BIEA (R22)
13 7 88 0| 7A=Y O BEK (R22)
13 71 8 [0]f 2m=v (@) BIEA (R22)
13 7 90 0| 7A=Y O BEK (R22)
13 7| 91 0| 7A=Y (@) BIEA (R22)
13 7 92 0 ¥ (@) BEK (R22)
13 7193 0| 7m=v (@) BIEA (R22)
13 7 94 0| 7A=Y O BEK (R22)
13 71 95 [ 0] 7m=v (@) BEA (R22)
13 7 96 0| 7A=Y O BEK (R22)
13 71 97 | 0| zmwy (@) BIEA (R22)
13 7 98 0| va=wv O BEMK (R22)
13 7 99 0| 7m=v (@) BEMA (R22)
13 7| 100 | 0 | zofwis O BEK (R21)
13 7101 ] 0] zofex @] BEMA (R21)
13 71102 | 0| vm=wv O BEK (R22)
13 71103 | 0| z7m=v (@) BEA (R22)
13 71104 | 0| vm=wv O BEK (R22)
13 71105 0| zm=v (@) BEMA (R22)
13 71106 |0 e/ % O BEK (R22)
13 71106 | 0| z7m=v (@) BEMA (R22)
13 71107 | 0| vma=wv O BEK (R22)
13 71108 | 0| z7m=v (@) BEA (R22)
13 71109 | 0| vm=wv O BEK (R22)
13 711100 /% (@) BEMA (R22)
13 71111 | 0| vma=wv O BEA (RE2)
13 71112 0| sm=y O BEMA (R22)
13 71113 |0 e/ % (@) BEA (RE22)
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13 71113 [ 0| va~%vy O R (R22)
13 711151 0| sn=v O REK (B22)
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24 7 19 | 0 | zotem (@) EEH (RE21)
24 | 7| 23 | 0| zoten @) BEK (R2D)
24 7 27 0 ¥ (@) EER (R22)
24 7 28 0 e/ % O BEK (R22)
24 712910 /% O BIEA (R22)
24 7 30 0 ¥ O BEK (R22)
24 7 31 0 ¥ (@) REMR (RE2)
24 7 32 0 ¥ O BEK (R22)
24 7133 |0 2% (@) BIEA (R22)
24 7 34 0 ¥ (@) BEK (R22)
24 7 37 0 ¥ (@) REMR (R22)
24 7 38 0 ¥ (@) BEK (R22)
24 7139 |0 2% (@) BIEA (R22)
24 7 40 0 ¥ (@) BEK (R22)
24 7| 41 0 2% (@) REMR (RE2)
24 7 42 0 ¥ (@) BEK (R22)
24 7 43 0 2F (@) REMR (RE2)
24 7 44 0 e/ % O BEMK (R22)
24 7 45 0 2F @] REMR (R22)
24 7 47 0 ¥ O BEK (R22)
24 7 48 0 2F @] REMR (R22)
24 7 49 0 ¥ O BEK (R22)
24 71 50 |0 2% @] BEA (R22)
24 7 51 0 ¥ O BEK (R22)
24 7 52 0 2F @] REMR (R22)
24 7 53 0 ¥ O BEK (R22)
24 7 54 0 2F @] REMR (R22)
24 1 1 0 ¥ O BEK (R22)
24 1 1 0 e/ * (@) BEA (R22)
24 1 2 0 ¥ O BEK (R22)
24 1 3 0 2¥ (@) BEMA (R22)
24 1 4 0 ¥ (@) BEA (RE2)
24 4 4 0| es/* @] BEMA (R22)
24 1 5 0 ¥ (@) BEA (RE22)
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24 4 6 0 2% O BEMA (R22)
24 1 7 0 ¥ (@) BEA (R22)
24 4 7 0] es/* @] BEMA (R22)
24 4 8 0 ¥ (@) EER (R22)
24 1 8 0] es/* @] BEMA (R22)
24 4 9 0 ¥ (@) EER (R22)
24 1 9 0 e/ % (@) BEMA (R22)
24 4 11 0 ¥ (@) EEH (R22)
24 1 12 |0 2% (@) BEMA (R22)
24 4 13 0 ¥ (@) EER (R22)
24 1 14 10 2% (@) BEMA (R22)
24 4 21 0 ¥ (@) EEH (R22)
24 11 22 |0 2% (@) BEMA (R22)
24 4 23 0 ¥ (@) EER (R22)
24 11 25 |0 Z¥ (@) BEMA (R22)
24 4 28 0 ¥ (@) EER (R22)
24 11 28 0] es* @] BEMA (R22)
24 4 36 0 2 (@) EEM
24 1] 36 | 0| 2otz (@) EEM
24 9 8 0| zotwk (@) BEA (R21)
24 | 1| 22 | 0| zoten O BEK (R2D)
24 1| 23 | 0| zowx O BEA (R21)
24 I 27 0 ¥ (@) BEK (R22)
24 I 28 0 ¥ (@) EEH (R22)
24 | 1| 29 | 0| zoten O BEK (R2D)
25 7 2 0 /% (@) BEA (R22)
25 | 7| 2 | 1] vavy @) R (R22)
25 7 4 0 /% (@) BEA (R22)
25 7 5 0 e/ % (@) BEK (R22)
25 7 6 0 /% (@) BEA (R22)
25 7 7 0 ¥ O BEK (R22)
25 7 8 0 e/ % @] BIEA (R22)
25 7 9 0 ¥ O BEK (R22)
25 7 9 0f 7m=v (@) BIEA (R22)
25 7 10 0| 7A=Y O BEK (R22)
25 7 11 0| 7A=Y (@) BIEA (R22)
25 7 12 0 ¥ (@) BEK (R22)
25 7 1310 2% @] BIEA (R22)
25 7 13 0 e/ % (@) BEK (R22)
25 7 14 0 2F (@) BIEA (R22)
25 7 15 0 e/ % (@) BEK (R22)
25 7 16 | 0 e/ % @] BEA (R22)
25 7 17 0 e/ % (@) BEK (R22)
25 7 17 0| 7A=Y (@) BIEA (R22)
25 7 18 0| va=wv O BEMK (R22)
25 7 19 0] vawv (@) BEMA (R22)
25 1 3 0 sm=v O BEK (R22)
25 1 3 0 @] BEMA (R22)
25 1 4 0 ¥ O BEK (R22)
25 1 4 0 S (@) BEA (R22)
25 1 5 0 e/ % O BEK (R22)
25 1 6 0 2¥ @] BEMA (R22)
25 1 6 0 =y O BEK (R22)
25 1 7 0] 7m=v @] BEMA (R22)
25 1 9 0 | zoteik @] BEK (R21)
25 11 100 /% @] REK (R22)
25 1 17 0 ¥ O BEK (R22)
25 11 17 |0 /% (@) BEMA (R22)
25 1 18 0| =0tk (@) BEA (RE21)
25 4 19 |0 2% O BEMA (R22)
25 1 19 0 e/ % (@) BEA (RE22)
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25 {1 20 | 0| sm%y (@) BEK (R22)
25 1 21 0| vAavwY O BEA (R22)
25 {1 22 |0 7=y (@) BEMA (R22)
25 4 23 0| vavwY O EER (R22)
25 11 24 10| 7m=v (@) BEMA (R22)
25 4 25 0| vavwY O EER (R22)
25 11 26 | 0| vm%v O BEMA (R22)
25 4 27 0| vavwY O EEH (R22)
25 11 28 | 0| vmvv O BEMA (R22)
25 4 29 0| vavwY O EER (R22)
25 11 30 | 0| vm%Y O BEMA (R22)
25 4 31 0| vavwY O EEH (R22)
25 11 32 | 0| vm%y O BEMA (R22)
25 4 33 0| vavwY O EER (R22)
25 11 34 |0 2% (@) BEMA (R22)
25 4 38 0| vawY O EER (R22)
25 9 3 0 sm~v (@) BEMA (R22)
25 9 17 | 0| 7awy O BEA (R22)
25 71 21 0| vawv (@) BEK (R22)
25 91 22 | 0| vavy (@) BEA (R22)
25 91 23 [ 0] vAvy (@) BEMK (R22)
25 91 25 | 0| vmwy (@) BEA (R22)
25 91 35 [ 0] vAvY (@) BEK (R22)
25 91 36 | 0| vawy (@) BEA (R22)
25 (1| 2 |0 zofen @) R (Re1D)
25 I 3 0| #zotex @) BEA (R21)
25 I 15 |10 e/=* (@) BEK (R22)
25 I 15 | 10| smwy (@) EER (R22)
25 | 1| 15 | 11| zotes O BEK (R2D)
25 I 15 |12 ¥ (@) EER (R22)
25 I 19 0 e/ % O BEK (R22)
25 I 19 (0| 7m=v (@) BIEA (R22)
25 I 20 0 e/ % O BEK (R22)
25 I 20 0| zm=v (@) BIEA (R22)
25 I 21 0 e/ % O BEK (R22)
25 I 21 0| 7A=Y (@) BIEA (R22)
25 I 22 0 e/ % (@) BEK (R22)
25 I 22 0| 7A=Y (@) BIEA (R22)
25 I 23 0 e/ % (@) BEK (R22)
25 I 23 0| 2m=v (@) BIEA (R22)
25 I 24 0 e/ % (@) BEK (R22)
25 I 24 0| 7A=Y (@) BEA (R22)
25 [ 1| 25 | 0| zofes O BEK (R21)
25 1| 26 | 0] zofex @] REK (R2D)
25 I 27 0 e/ % O BEMK (R22)
25 | 27 | 0| savy (@) REK (R22)
25 I 28 0 ¥ O BEK (R22)
25 I 28 0 £/ % O REMR (R22)
25 I 29 0 ¥ (@) B (R22)
25 (29 |0 es* O REK (R22)
25 I 30 0 e/ % O BEK (R22)
25 | 30 |0 savy @] REK (R22)
25 I 31 0 ¥ O BEK (R22)
25 1| 50 | 0| zofex O REK (R2D)
25 1| 53 | 0| zok @] BEK (R21)
25 L3 5 0] vawv (@) BEA (R22)
25 * 6 0| vawv O BEK (R22)
25 * 7 0 /% (@) BEMA (R22)
25 * 8 0 s (@) BEA (RE2)
25 | 11 | 0| zowx @] BEMA (R21)
25 * 12 0| =0k (@) BEA (RE21)
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25 F| 25 | 0| zowx O BEK (R2D)
26 T 14 | 0] zofex O RER (RED
26 7| 22 | 0| zowx O BEK (R2D)
26 7 23 0| =0tk (@) EEH (R21)
26 7| 33 | 0] zotex O BEK (ReD)
26 7 34 0| #zotik O EBEHR (RE21)
26 7| 37 | 0| zotex O BEK (Re1)
26 7 38 0| =0tk (@) EEA (R21)
26 7| 39 | 0] zofex O BEK (R2D)
26 7| 44 0| #zotix (@) EER (RE21)
26 7| 51 | 0] zofex O BEK (ReD)
26 7 86 1| zotk O EER (R21)
26 71 99 | 0| zofex O BEK (ReD)
26 4 1 0| =0tk (@) EER (R21)
26 11 30 | 0 zotex O BEK (ReD)
26 4 31 0| =0tk (@) EBER (R21)
26 11 35 | 0| zotex O BEK (ReD)
26 4 36 0| zotix (@) EEH (R21)
26 [ 4] 56 | 0| zofen O BEK (R21)
26 4 60 0| zotix (@) EEH (R21)
26 [ 4] 61 | 0| zofes O BEK (R2D)
26 4 72 0| zotix (@) EEH (R21)
26 [ 4| 73 | 0| zofemn O BEK (R2D)
26 4 87 0| zotix (@) EEH (R21)
26 [ 4| 116 | 0 | zofen O BEK (R2D)
26 1112210 £/ % (@) EEM
26 11122 | 0 | zotex (@) EEEM
26 11140 | 0 £/ % (@) EEM
26 1] 140 | 0 | zofer (@) EEM
26 11 149 | 0| zofti (@) BEA (R21)
26 [ 9| 15 | 0| zofes @) @) BEK (R21)
26 9 16 | 0 | zote= (@) @] BEA (R21)
26 1| 32 |0 e/ % @] @] M
26 1| 32 | 0| zowx @] O 323
26 | 4| 13 | 0| 7A=v (@) BEM (R2D)
26 P 13 | 0| zotes (@) BEA (R21)
26 * 14 0| 7A=Y O HEEM
26 P 14 | 0| zoters O HEEM
26 F1 15 | O e/ % (@) HEEM
26 +{ 15 [ 0| sm=v (@) HEEM
26 |1 15 | 0| zoftk (@) EEEM
26 1| 16 | 0| zote (@) BEMA (R21)
26 [+ | 17 | 0| zofex O BEK (R21)
26 1| 18 | 0| zotes (@) BEA (R21)
26 * 20 0 e/ % O EFEMR
26 F1 20 | 0| ot @] A EM
26 * 27 0 | zofi O BEK (R21)
26 h 6 0| zotx @] BEMA (R21)
26 h 7 0 | zofis O BEK (R21)
26 h 8 0| zotx @] BEA (R21)
26 pl 17 | 0| sm=v O EFEMR
26 h| 17 | 0| zofex @] EEM
26 h 18 0 ¥ O EFEMR
26 h 18 0 £/ % @] HEEM
26 h| 18 | 0| zotei O EEMR
27 7 5 0| zotx O REK (R2D)
27 7 9 0 | zofis O BEK (R21)
27 7| 10| 0] zoex @] REK (R2D
27 T 14 | 0] zofex O RER (RED
27 7| 15 | 0| zotes O BEK (RED)
27 7 19 0 ¥ (@) BEA (RE22)
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27 7 22 0 2% O A EM
27 7| 22| 0| zofek (@) EEM
27 7 23 0 2F O A EM
27 7| 23 | 0 zoter O EEMR
27 7 24 0 2% O HEEM
27 T 2410 /% @] EEM
27 7| 24 | 0| zofex (@) A EM
27 7| 31 | 0| zox O BEA (R21)
27 7| 33 | 0] zotex O BEK (R2D)
27 7| 36 | 0| zotx O BEA (R21)
27 7 37 0 e/ % (@) HEEM
27 7| 37 | 0 2ot O EEMR
27 7| 47 | 0| zomex O BEK (ReD)
27 7| 54 | 0| vavy O HEM
27 7| 54 | 0| zofx (@) A EEM
27 7] 66 | 0 savy O HEM
27 7| 66 | 0| zofx (@) A EEM
27 71 68 | 0 smvv (@) EEM
27 [ 7| 68 | 0| zofer @) EEM
27 71 69 [ 0] =y (@) EEM
27 [ 7| 69 | 0| zofer @) EEM
27 T 74 | 0| zoteix O BEA (R21)
27 | 7| 89 | 0| smwv @) R (R22)
27 7 90 0 ¥ (@) EEH (R22)
27 | 7| 9 | 0| sm<v @) R (R22)
27 7 91 0 ¥ (@) EEH (R22)
27 7 92 0 ¥ (@) BEK (R22)
27 7 93 0 ¥ (@) EER (R22)
27 7 94 0 ¥ (@) BEK (R22)
27 71 99 | 0 2ot O BEA (R21)
27 711050 ¥ O BEK (R22)
27 1 9 0 | zotex @] REK (R2D)
27 I 1 0 ¥ O BEK (R22)
27 I 1 0 e/ % @] BIEA (R22)
27 I 4 0 e/ % O BEK (R22)
27 T 62 | 0| zotx @] BEA (R21)
27 [+ 89 | 0| zof O BEK (R21)
27 7] 102 | 0| zotix O BEA (R21)
27 | £ | 110 | 0 | zotes O BEK (R21)
27 + ] 120 | O | zofes (@) BEA (R21)
27 [ h| 24 | 0| zofex O BEK (R21)
27 h| 34 | 0] zofex @) BEMA (R21)
27 [ h| 37 | 0| zofe O BEK (R21)
27 h| 38 | 0] zofex @] REK (R2D)
27 h 39 0 | zofis O BEK (R21)
27 h| 40 | 0| zofex O REK (RED)
27 h 68 0 e/ % O BEK (R22)
27 | h| 69 | 0| es/=* @) B (R22)
27 h 70 0 | zofis O BEK (R21)
27 B | 100 | 0| zofex O REK (R2D)
28 7 26 0 | zofis O BEK (R21)
28 11 30 | 0| zotex @] BEA (RE21)
28 1 53 0 | zofis O BEK (R21)
28 9 1 0| zotx @] BEMA (R21)
28 9 2 0| zotex @) BEK (R21)
28 9 3 0| zotx @] BEA (R21)
28 7 15 0 | zofis O BEK (R21)
28 9 16 | 0 | zotex @] REK (R2D
28 7 39 0| =0tk (@) BEA (RE21)
28 9 41 | 0| zotex O BEK (RED)
28 7 81 0| =0k (@) BEA (RE21)
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28 91 107 | 0| zotx O BEK (R2D)
29 7| 25 | 0| #zofex O RER (RED
29 7|1 26 |0 /% O M
29 7 26 0| =0tk O HEM
29 7| 48 | 0| zofex @] BEMA (R21)
29 7| 49 0| #zotik O EBEHR (RE21)
29 7| 50 | 0| zofex O BEK (Re1)
29 7 52 0| =0tk O EER (R21)
29 7| 59 | 0| zofex O BEK (R2D)
29 7| 129 | 0 | zotis (@) EER (RE21)
29 7|1 141|0| sm=y O BEMA (R22)
29 7145 (0 b/ (@) EEH (R22)
29 7146 |0 smwy O BEMA (R22)
29 7| 147 10| va=wy O EER (R22)
29 | 7| 148 0| es=* (@) BEH (1R22)
29 71150 | 0 zF (@) EER (R22)
29 71151 (0 ¥ O BEMA (R22)
29 71510 e/ % (@) BEA (R22)
29 | 7| 152 | 0| sm<v @) REH (R22)
29 71163 | 0| smwv (@) BEA (R22)
29 7] 154 |0 e/ % (@) BEMK (R22)
29 711550 e/ % (@) BEA (R22)
29 7] 156 | 0 e/ % (@) BEK (R22)
29 7157 |0 e/ % (@) BEA (R22)
29 | 7| 158 | 0| smvv @) R (R22)
29 71159 | 0| smwv (@) BEA (R22)
29 71160 | 0 e/ % (@) BEK (R22)
29 7161 | 0| A~y (@) BEA (R22)
29 | 7166 | 0| va<v @) REH (R22)
29 7167 | 0| R~y O BEA (R22)
29 71168 | 0| sm=wy O BEK (R22)
29 71169 | 0| 7m=v (@) BIEA (R22)
29 711710 e/ % O BEK (R22)
29 711720 /% @) BIEA (R22)
29 711730 e/ % O BEK (R22)
29 7117410 /% @) BIEA (R22)
29 711750 e/ % O RN (R22)
29 7| 181 | 0| zotix @] BEA (R21)
29 | 7| 214 | 0| zoten O BEK (R21)
29 7| 215 | 0 | zofes (@) BEA (R21)
29 | 7| 216 | 0| zoten O BEK (R21)
29 7| 217 | 0| zofes @) BEMA (R21)
29 | 7| 218 | 0 | zoten O BEK (R21)
30 i 4 0| zotk @] BEA (R21)
30 7 18 0| va=wv O BEMK (R22)
30 9 19 0] vawv (@) BEMA (R22)
30 7 20 0| vavwv O BEK (R22)
30 91 21 0] 2m=vy (@) BEMA (R22)
30 7 22 0| vawv O BEK (R22)
30 91 23 |0 s @] BEA (R22)
30 7 24 0| va=wv O BEK (R22)
30 9 25 0] vawv (@) BEMA (R22)
30 7 26 0| va=wv O BEK (R22)
30 91 27 [ 0] 2m=v (@) BEMA (R22)
30 7 28 0| vawv O BEK (R22)
30 9 29 0] vawv (@) BEA (R22)
30 7 30 0| vawv O BEK (R22)
30 | 9| 31 |0 es=* @) B (R£2)
30 91 32 (0 /% O BEA (R22)
30 71 33 [0 e/ (@) BEMA (R22)
30 7 34 0 e/ % (@) BEA (RE22)
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30 91 3 |0 e/* (@) BEMA (R22)
30 91 36 [ 0] es* O BEA (R22)
30 91 37 |0 e/ (@) BEMA (R22)
30 7 41 0| =0tk (@) EEH (R21)
30 9 46 | 0 | zotex O BEK (ReD)
30 9| 47 | 0] zotx O BEA (R21)
30 7| 54 | 1| sm=ey (@) BEMA (R22)
30 + 63 0| vavwY (@) EEH (R22)
30 | 64 | 0| smey (@) BEMA (R22)
30 + 65 0| vavwY O EER (R22)
30 T 66 | 0| sm~v (@) BEMA (R22)
30 + 67 0| vavwY O EEH (R22)
30 T 69 [0 sm~v (@) BEMA (R22)
30 h 25 0| vavwY O EER (R22)
30 hl 39 | 0| smey O EEK (1222)
30 h 40 0| vawY (@) EER (R22)
30 h| 61 | 0| zofex O BEK (ReD)
30 h 71 0| zotix (@) EEH (R21)
30 h| 72 | 0| zofx (@) EEM
30 hl 7210 24 @] EEM
30 [ 7] 15 | 0| zofes @) BEK (R2D)
30 U 16 0| zotix (@) EEH (R21)
30 [ 7| 17 | 0| zofers @) BEK (R2D)
30 U 36 0| zotix (@) EEH (R21)
30 [ 7] 38 | 0| zofers @) BEK (R2D)
30 1| 85 | 0| zotx O BEA (R21)
30 Bl 86 0 e/ % (@) HEEM
30 1| 8 | 0| zofti O EEM
30 11 90 | 1| za=v O BEK (R2D)
30 1 90 2| vawy O EEH (R21)
30 1 90 3| va=wy O BEK (R21)
30 hl 90 | 4| vma=vy (@) BEA (R21)
30 1 90 5| A=y O BEK (R21D)
30 il 9 [ 6| sAvv (@) BEA (R21)
30 1 90 7| va=vy O BEK (R21)
30 il 9 | 8| zmAwv (@) BEA (R21)
30 1 90 9| va=wv O BEK (RE21)
30 hl 90 (10| zm=v (@) BEA (R21)
30 1 90 | 11| zm=v O BEK (R21)
30 1 90 [12] vavv O BEA (R21)
30 1 90 | 13| zm=v O BEK (RE21)
30 hl 90 | 14| vm=v (@) BEMA (R21)
30 1 90 | 15| zm=v O BEK (R21)
30 hl 90 (16| zm=v (@) BEA (R21)
30 B 90 | 17| zm=v O BEK (R21)
30 1| 90 [18] zmvv @] REK (RED)
30 B 90 | 19| zm=v O BEK (R21)
30 # 1 1| 7a%v (@) BEMA (R21)
30 Vi 1 2| 7AwY O BEK (R21)
30 # 1 3| 7~y O REK (R2D)
30 Vi 1 4| 7Hey O BEK (R21)
30 # 1 5| 7~y O REK (R2D)
30 Vi 2 0| va=wv O BEK (R22)
30 # 38 | 0| zofes O REK (R2D)
30 ¥ 1 45 0 | zofis O BEK (R21)
30 | 46 | 0| zofex O REK (R2D)
30 #1 50 | O e/ x O EEMR
30 #1 50 | 0| zofex @] A EM
30 A 3 0 (@) BEA (RE2)
30 | 2] 4 |0 @) BEH (R22)
30 A 5 0 (@) BEA (RE22)
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30 2 6 0| zotx O BEK (R2D)
30 Z 7 0| o=y @) BEA (R22)
30 s 9 0| zotx O BEK (R2D)
30 t 1 0 (@) EER (R22)
30 t 2 0 (@) BEMA (R22)
30 t 3 0 (@) EER (R22)
30 t 4 0 (@) BEMA (R22)
30 t 4 0 (@) EEH (R22)
30 t 5 0] vawv O BEMA (R22)
30 t 6 0| zotk O BEA (R21)
31 1 3 0 A=y (@) BEMA (R22)
31 4 4 0 e/ % (@) EEH (R22)
31 1 5 0| zotx O BEK (ReD)
31 1 7 0| va=v O EER (R22)
31 1 8 0 A=y (@) BEMA (R22)
31 4 9 0| vawY (@) EER (R22)
31 1 10 | 0| vmwv (@) BEMA (R22)
31 4 11 0 £/ % (@) BEA (R22)
31 1 12 0 e/ *® (@) BEK (R22)
31 1 18 | 0| vmwv (@) BEA (R22)
31 1 19 | 0| vmvv (@) BEK (R22)
31 11 20 | 0| 7m%v (@) BEA (R22)
31 11 21 0 sm~v (@) BEK (R22)
31 11 22 | 0| 7m%v (@) BEA (R22)
31 11 23 | 0| vmvvy (@) BEK (R22)
31 4 24 0 E/ % O EEH (R22)
31 1 26 0 e/ *® (@) BEK (R22)
31 11 27 | 0| 7B%v (@) BEA (R22)
31 11 28 | 0| vmvv (@) BEK (R22)
31 1 29 0 £/ % (@) BEA (R22)
31 1 32 0 e/ *® O BEK (R22)
31 11 33 ]0 e/ % @] BIEA (R22)
31 1] 34 | 0| zoten O BEK (R21)
31 11 50 | 0 e/ % @] BIEA (R22)
31 1 50 0] 7vA=v O BEK (R22)
31 115110 /% O BIEA (R22)
31 1 51 0] 7vA=v O BEK (R22)
31 11 5210 /% O BIEA (R22)
31 1 52 0] 7vA=v O BEK (R22)
31 11 54 (0 /% O BIEA (R22)
31 1 54 0] 7vA=v O BEK (R22)
31 11 55 |0 e/ % @] BEA (R22)
31 1 55 0] 7vA=v O BEK (R22)
31 11 56 | 0| 7m%v (@) BIEA (R22)
31 1 92 0] 7A=Y O BEMK (R22)
31 11107 | 0| zote @] BEMA (R21)
31 {1 108 | 0| zofei O BEK (R21)
31 11230 0| vm%v (@) BEMA (R22)
31 112310 7%y O BEK (R22)
31 11232]0 S (@) BEA (R22)
31 11232 0| vm%vy O BEK (R22)
31 11233]0 £/ % @] BEMA (R22)
31 11233 0| vm%v O BEK (R22)
31 11234 | 0| zote @] BEMA (R21)
31 {1235 | 0| zofek O BEK (R21)
31 11236 | 0| vm%vy (@) BEA (R22)
31 11237 | 0| vmvvy O BEK (R22)
31 11237]0 @) B (R£2)
31 {11238 0| vAvY O BEA (RE2)
31 1] 248 | 0| vmwv O R (R22)
31 {1249 | 0| vA=Y O BEA (RE22)
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31 411250 | 0] 7m%v @] BEK (R22)
31 4112510 es=% @) RENK (R£2)
31 41251 | 0] vm%v @] BEK (R22)
31 11262 0| 7%y O REK (R22)
31 {1253 | 0] vm%v @] BEK (R22)
31 112640 7% O REK (R£2)
31 {1255 | 0] vm%v @] BEK (R22)
31 11256 | 0| 7%y O REK (R£2)
31 {1257 | 0| vm%v @] BEK (R22)
31 11258 | 0| 7%y O REK (R22)
31 411259 | 0] vm%v @] BEK (R22)
31 11260 | 0 7m=v @] REK (R22)
31 {1261 | 0] vm%v @] BEK (R22)
31 11262 |0 e/ % O REK (R£2)
31 {11262 | 0] vmvv @] BEK (R22)
31 11263 ] 0[ vm=y @] REK (R22)
31 {12640 smey O EEMk (1222)
31 11265 |0 7m=ey (@) REK (R£2)
31 {1265 |0[ 2vawy @] REH (R22)
31 11266 | 0| savy @] REK (R£2)
31 41267 | 0| vaey @] R (R22)
31 11268 | 0[ vavy @] REK (R£2)
31 11269 | 0( 2vawy @] R (R22)
31 112700 e/ ® @] REK (R£2)
31 412700 va=y @] R (R22)
31 112710 e/ ® @] REK (R£2)
31 112720 e/ % @] R (R22)
31 112730 v7awy @] REK (R£2)
31 1127410 e/ % @] REH (R22)
31 11274 0| vavy @] REK (R£2)
31 11276 | 0| vawv @] RBEM (R22)
31 11277 0| 7m=v @] REK (R22)
31 11278 0| vawv @] BEM (R22)
31 11279 0| 7m=v @] REK (R£2)
31 11280 | 0f vawy @] BEM (R22)
31 11281 ] 0[ 7m=y O REK (R22)
31 11282 0( vawy @] BEM (R22)
31 11283 0[ 7m=y O REK (R22)
31 11284 0| 2vawy @] BEM (R22)
31 1128 |0 zm=y O REK (R22)
31 11286 |0 e/ % @] BEM (R22)
31 112870 /% O BEA (R22)
31 ¥| 38 | 0] vawvy @] BEM (R22)
31 | 7| 1 | 0] %ot @) REEMH (R21)
3 | 7| 2 | 0| zoten (@) REM (RE1)




